REDROCK

CARGO AREA ENCLOSURE

(2021-2024+ BRONCO)

INSTALLATION INSTRUCTIONS

CONTENTS TOOLS REQUIRED

1) LH Molle Panel 10mm, 12mm, 13mm Sockets
1) RH Molle Panel Ratchet
1) Center Molle Panel 4mm Allen Key
1) Top Panel

1) LH ‘L’ Bracket w/ Clip Nuts
1) RH ‘L’ Bracket w/ Clip Nuts
1) LH Rear Mounting Bracket
1) RH Rear Mounting Bracket
4) Weatherstripping Strips

) M8x1.25 x 30mm Flange Bolts

) M8 x 18mm Nylon Spacers

0) M8x1.25 x 20mm Flange Bolts
) M8x1.25 Flange Nuts

) M6x1.00 x 20mm Allen Bolts

)

(
(
(
(
(
(
(
(
(
(
(
(
(
(
(1) 4mm Allen Key

8
8
2
8
9
1

SKU # FB51939
Edited: 08/29/2024



REDROCK

STEP1

Open and clean the cargo area of all contents. Locate the (4) anchor points in the vehicle floor,
and remove the plastic cover. Remove the (2) 10mm bolts from each anchor point. Remove all
anchor points from the vehicle.

STEP 2

Lay out and identify the enclosure components.



REDROCK

STEP 3

RH Side Shown Above: Assemble the bottom of the ‘L’ bracket to the molle panel using (2) M8 x
20mm flange bolts. Assemble the RH lower mounting bracket to the molle panel using (2) M8 x
20mm flange bolts.

Repeat this step for the LH side molle panel and ‘L’ bracket.

STEP 4

Place (2) M8 nylon spacers onto the anchor point bolt holes. Then, fit both assemblies into the
vehicle cargo area along the appropriate side. The panels will align with the interior panels. Secure
the molle panels to the anchor points using (2) M8 x 30mm flange bolts per mounting point.



REDROCK

STEP S

Fold the interior rear seats downwards to access the cargo area. Then, with a helper, align the
center molle panel to the LH and RH ‘L’ brackets and secure using (2) M8 x 20mm flange bolts per
side.

Note: Having a helper hold the mounting brackets from the cargo area to align the bolts through
the molle panel may be necessary.

STEP 6

With a helper, lift the top panel in between the LH and RH molle panels. Secure the top panel into
place using (9) M6 x 20mm Allen bolts.

Note for Soft Top Equipped Vehicles: Remove the (2) 8mm bolts from each rear window retaining
latch on the vehicle body. Then, remove the latch from the body. While installing the top panel, fit
the retaining latch into place and secure using the original (2) 8mm bolts.



REDROCK

STEP7

Ensure all hardware is fully tightened. Install the OEM tie down points to the top panel pre-drilled
holes using (8) M8 x 20mm flange bolts and (8) M8 flange nuts.

Install the included weatherstripping to the edges of the enclosure.

Installation is now complete.



	FB51939 - RedRock - Cargo Area Enclosure (21+ Bronco)-01
	FB51939 - RedRock - Cargo Area Enclosure (21+ Bronco)-02
	FB51939 - RedRock - Cargo Area Enclosure (21+ Bronco)-03
	FB51939 - RedRock - Cargo Area Enclosure (21+ Bronco)-04
	FB51939 - RedRock - Cargo Area Enclosure (21+ Bronco)-05

